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I » mwn: mixture of n»n1a onT with o»n¥N 0NT as stemming from v. 1
a  if: the two mixed — all are spilt out
i question: why doesn’t 8" disagree here as well (and employ “px1”)?
1  answer: no solution —
(a) cannot: begin outside; just as there is a mxn to start with 1%y, so too with n»nn9 onT
(b) and if: he starts inside, in the case of WXy nkvn, that invalidates them — cannot declare a blanket ruling
b if: he put the mixture on the outer nam and then on the inner - valid
¢ but if: he put the mixture inside and then outside:
i y7rinvalid; reason: any o7 that enters the Y20 invalidates its 127p
it ppom valid; counter: above-stated rule only applies to nxon o7
iii 77 also the DWR, as per v. 2
I Analysis of dispute n'nan/y™, if v. 1 only applies to nron o7 (0>man) or to all Nap (¥™)
a SN y™’s approach (interpreting v. 1 as applying to all ow1p [context: v. 1 is end of nkonn 'a); similar to servant
pouring hot water for master, then his master requests that he pour — means both cold/hot, else no need to restate;
i similarly: text is already dealing with nRvn, no need to mention nxonin v. 1 - if not to expand to all nwp
it challenge ("7 7772 81777 *7): but we extend naow1 np»™n 11 (verse before v.1) to all mwp
1 therefore: more similar to slave pouring both, now master only wants “hot” —i.e. only applies to nxon
b &p77722 Y™ infers from nron 99y — expanding to all w7 *w7p then to all »Yp DowTp.
i 4777 cannot expand beyond nxon, 951 expands to Tn’ nron and even 721 NRVN (XMW1 VYY)
ii  challenge: »'n understands v. 1 to be in re: a7win nMY, that they are burnt nvan noar and there is a n" for eating
1  response to 177777 what is source for %109 of blood that went inside? (answer: v. 3)
2 answer: he was responding to " (and his derivations from v. 1) — but he doesn’t accept it at all
II 2> nwn: relationship between Mo holding nkvn 0T when one goes inside
a  if:anrun’s blood was received in two chalices
i if: one went out of the Ny, the other is still 7w3
il but if: one went into the 5n,
1 2777 one that remained outside is still valid
2 pporrall o7 (2117p) is invalid
(a) argument (17777): if outside, where intent to offer there invalidates 129p ("pyn nawnn”), but one v doesn’t
(i) then certainly: inside, where intent is not Y1, one V13 shouldn’t invalidate the other
(b) response (81177723 o2po1): v. 1 — nnTn implies “even any of its blood”
(1) counter (817733 377779): then R¥v should invalidate all of the blood via v’p (from no pin nawnn re: D219)
(c) response: verse states X1 1WR — only 07 going inside invalidates (rest), not xxv
(i) counter: 9 nawnn should invalidate, via 1"p from yn nawnn (where some 0T doesn’t Y012 rest)
(d) response: v. 4 uses "w9w - only a location which is w5wn (o718 ;7w ,07) can count for Yin nawvnn
(i) counter: then yin nawnn should not invalidate, v"p from n»4a nawnn
(e) response: v. 5 — w9w refers to 1Ny YN, Y18 — to 1PNy PN
(i) addendum (to #177773): 7wa which goes out is 909, but if it goes into 930 — valid
1. in spite of 177 if 07 going in invalidates, certainly 9wa (which even invalidates if “out”) should
2. then 177 71 outside should not be Ym4a based on above v’p turned inside-out
a. response: V. 6- any meat outside of its precinct is (considered like) N0 - OR
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if: he went inside (with 1¥’n ©7) to be 19231

i #7rinvalid once he enters

ii @77 only invalid after he puts it on nam (or naa)

iii /7777 77 if he took it in awa — doesn’t invalidate

role of the p»¥ any 9708 07 put on nam doesn’t effect N193; p>¥ only effects for 129p brought nkmMV3, not for rxv

IV Source for 5102 of 07 going inside (v. 1)

v

a

N3z v. 1 nmma implies only 77p1p, WMpn YR expands to 920
i challenge: why not just state wTp (=92°n) then nn»9 is ipso facto an invalidating locus
1 answerl (X27): nn79 informs us that wTp means 530, not 7"pTp, per our read of 15v1 2VIN

(a) (background: neither a 2wn or 179w of a 113 eats NMIN; w/0 17V, we might have thought that 2vin re-
ferred to a “simple” May T2y, but a y¥71 eats > we need both, to “push” 2win to mean yx1)

(b) challenge (»7ax): in that case, there are two distinct people; even if the N7 stated Y82 X5 Y73, 19w would
be derivable via 1"p and sometimes the n7n states such things (X7p 1% 2021 MV 17pa RNRT ’NYN); but
here, once you’'ve gone in to the %370, already 9108 — no need to state that 0’19 a5 invalidates

2 answer2 (»aK): nma is needed for case where he brought the o7 in through e.g. a window

(a) 27 thatisn’t called nran

3 answer3 (#37): means that if he had intent to bring to 7”p7p, not invalidated (yet) in %3n

R17: sequence of questions applying v. 1

a

first: if he brings 'n»a o7 into TP
i lemmal: only invalid if there is a prohibition of bringing into wmp; here, it belongs there = no %10
ii  lemma?2: it isn’t the proper place for this o1 > %108
iii  if we accept lemmaZ2: 3"nv v VYW1 18 that were brought into 7"p7p, with nrtn, then brought to Y2'n and back in
1 lemmal: this one really does belong here (earlier) = w3
2 lemma?2: once it has gone out, it has gone out > %108
3 ifwe accept lemma2: if he put that o7 on the N9, then brought to 'n»49 nam and back between narn and noma
(a) lemmal: this is all one place
(b) lemma?2: this is called nR*®"? —1pn

VI Analysis of end of mwn — dispute w”/8™ and nTn "1 about intent

a

N12272 R connects our verse (WMpa 193Y) with v. 7 — which is before 1193 (= once he brings in — »108)
i »”7:connects our verse with v. 8 — which is after n193 (meat is being burnt at this point)
ii  point of disagreement: whether it is preferable to learn yinn pin (8™), rather than o201 yin (from 2”0y 5w YW 99)

1 w77 prefers to learn nnnan nnna, not from o (v. 7 warns people to be out of Y2°n when 3”13 is doing nTay)
inference from 7177 /7. if he brought it in 1na - %os
i question: per 8" (even without n795) or only per w" (after n193)?
ii  answer (772072 77): from Rn¥3, where TN’ 1 sees extra word qMwm (v. 9)

1 block: ymwm is not extra — needed to teach that anyone burning 3"nv 5» 9wy 98 has 72 nrkmv

2 rather: extra word nRon (twice — in v. 8) — teaches that anyone burning any o'a7w1n 018 has 732 kv

3 »”1 not needed, inferred from 1235 (v. 8)

(@) A 7 didn’t use 193% because he needed for w1 (a la w™)
(i) therefore: nTi "1 only invalidates if brought in 71 and n493 is effected
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